EARAROBEEIERT — 2 N— IBISH —F

201295390 (K) 3ms5#2AH

KM >5RC23# C23 ¥5%—MH (w8 | mEmml - |5 5) o 8
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ZTYLTTIVE > 4 E-guéﬁi 1:(3_3).3 4-4-4-4 | 40.0| — 4 502 %%géé (&)
RV v INRry b BYIETH VA (-3) 1B BLEE
N . =R :33. FERGH . - IR (%1
F 51 KZ # 5 = 1(733!:;3 3-3-3-3 | 40.2 3 (4:520) S A
LT RYAVRX B:47U0v> R TRENS
. EHBEN . q_q— — HOREZ (%)
T — o7 [riesetl 1.(3233.7 1-1-1-1 | 40.9 5 5_762) i A
:val)—-2ZAnMO0—- B:T5CFKAILFz sk
N . L . —0_0_ — g (5542)
F51) o4 e 1(.13/32.)8 2-2-2-2 | 40.9 1 ;tjj()) e A
LT N=—Hr - B:ATUE—k HR Bk
o= . KEFiER :34. ~6-5- . — IR (552
5011 XRXZ>7—I K "8 80 e ooes A ! ff) BLEE
L7 LT LF— BZV/NFTTH Eibitse]
— e o7 | KFHAE 1:35.1 7-7-7-6 | 40.6| — | 6 | 491 |BEHIER (1)
6l8lg|AT—THV2T 56.0 (1 1/2) *) | B ’f‘E)le
LB RA Y E—T B - TIN—v—X BEX#ERS
EEEE : -g-8- - JIligBLE (&H)
Jlal 7 vz a- o4 BRs 1.(376>.5 8-8-8-9 | 40.7 2 zzgis s A
L FEY KT B iYL b—X BERS
- — - 998 |40.9| — FRBSE (5H)
8l5l5|vns7xLR H 8 RN (11316/28) 9-9-9-8 | 40.9 8 :57% (g) 'rtwA
RN HATAA— BixFI—> B/ Ak
. < ge # o9 | BlETit 1:37.0 5-5-6-7 |43.2| — 9 442 | INERBEER (%HR)
9|8|g| T¥F-—XF—A 6.0 5! Coy | B Rz
L:47I—-Y3> BREIXTAIL TILE B ARBS
® I—F—@EBIERL
15l=2F= 2,3,6,4,8,1,9,7,5
Ao=5"= 2,3,6,4,8,1,9,7,5
T =35r= 2,3,6,4,1,8,9,7,5
43—+ — 2,3,6,4,1,9,8,5,7
[ RN
B 4 1,540 & 4-6 3,500 3EE 2-4-6 8,950
# B 4 250 % B 4-6 7,410 3EE 4-6-2 66,0704
6 130H4 B = 4-6 2,620
2 2500 | | B E 4-6 7,470M

ABICOVWTRDTEEERROODE. TR LIV,




